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=—10a* + 6ab
(3) —38a(3¢—2b)=—3aX3a—3axX(—2b)
=—9q° + 6ab
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(6) (a+2b+3)(a—4b)
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4) (x+5)(x—4)=z'+(5—4)z+5x(—4)
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5) (y=3)y+7)=p*+(—3+7)y+(—3)x7
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6) (x+1)(x—8)=x*+(1—8)x+1x(—38)
=z*—Txr—38
(7) (a—10)(a+6)=a*+(—10+6)a+(—10)x 6
=a’—4a —60
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=x'—8x+7
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(1) 10z*+ 6xy (2) —a*—"Tab
(3) —12a*+4ab (4) 10m* — 5mn + 20m
(5) b6xy —4y*+ 2y (6) 3a*—4ab
[ 5]
(1) 2x(5x+3y)=2x X bxr+2xr X3y
= 10x* + 6xy
2) (a+70)x(—a)=ax(—a)+7b*x(—a)
=—a*—Tab
(3) 4a(—3a+0b)=4ax(—3a)+4axb
=—12a*+ 4ab

4) 5m(2m—n—+4)=>5mX2m—>5m X n+5mxX4
= 10m* — Smn + 20m
(5) (8xr—2y+1)X2y=3xX2y—2yX2y+1X2y

=6xy —4y*+ 2y

(6) *0(()(]*8[)) =—aX ba*%a X 8b

2,
=3a’—4ab
2 P.14
(1) 5a*—5a (2) 2#—1lzx
(3) 2x°—6xy (4) —ba*—17a
(5) Tx*—uxy (6) a*—10ab
(65D |
(1) a(2a+1)+3a(a—2)=2a*+a+ 3a’>—6a
=5a’—5a
(2) 3z(x—1)—2x(x+4)=32"—3x—22"— 8z
=x¥—11%

(3) bx(x—y)—x(8x+y)=>5x*—b5xy —3x*—xy

=2x*— 6xy
4) —a(5—a)—6a(2+a)=—5a+a*—12a — 6a*
=—5a"—17a

(5) 2x(8x+y)+zx(x—3y)="06x*+2xy+x* *%w
=Tz — xy
(6) 4(1((1*2[))*%(1(6(1+4b)

=4a* — 8ab — 3a® — 2ab

=a*—10ab

3 P.14
(1) 4a—3b (2) bx—+3y
(3) 3a—4b (4) —4xr+ 3y
(5) 3b—6a (6) 6x+ 9y
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(1) (8a*—6ab) +2a=(8a’—6ab) X —

=4a — 3b

g 1
3y = 5 Qy?) X —
3y = (15xy + 9y*) 3

(2) (15zy +9y%) +
=bx + 3y

(3) (6a*b—8ab*) + 2ab = (6a*b — 8ab’

1
2ab
=3a—4b
4) (16x*—12xy) ~ (—4x)

= (162" — 1229) X (7L)

4x
=—4x+ 3y
1 3
(5) (ab—2a*) +~—=a=(ab—2a*)*x —
3 a
=3b— 6a
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(6) (4x*y + 6xy?) = 3 xy = (4x*y + 6z2y*) X 57
=6z + 9y
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(1) ac—ad~+ bc— bd (2) 2zy+3xr—8y—12
(3) 6x*—192—7 (4) 4a*—Ta—15

(5) a*—ab+T7a—3b+12
(6) 6x°— 17xy + 5y* + 4x — 10y
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(3) (8x+1)(2x—7)=6x"—2lx+2xr—7
=6x"—197 =¥

4) (a—38)(4a+5)=4a*+5a—12a— 15
=4g*—Ta—15

5) (¢+3)a—b+4)=ala—b+4)+3(a—b+4)
=a’—ab+4a+3a—3b+12
=aq*—ab+Ta—3b+12

6) (8xz—y+2)(2x—5y)

=82 (22 —5y) —y(2x —5y) + 2 (2x —5y)
= 6x* — 152y — 2xy + 5y* -+ 4x — 10y
= 61> — 17xy + 5y° + 4x — 10y

5 P.15
(1) z*+9x+14 (2) —ba—24
(3) y*—y—30 (4) m*—13m + 36
(5) x*+12x+ 36 (6) a*— 16a + 64
3 3 9 5
e — = (8) x*—49
(7) x 2.1—! 16 T
(9) a*—64 10) 25— m?*
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(1) (z+2)x+T)=2*+Q2+T)x+2X7
=z*4+9r+14

2) (a—8)a+38)=a*+(—8+3)a+(—8)x3
=a*—b5a—24
(3) (y+5)(y46):y!+(5—6);1#—5><(~G)
=y'—y—30
4) (m—4)(m—9)
=m*+(—4—9)m~+(—4)x(—9)
=m’—13m + 36
(5) (r+6)=x"+2x6xXx+6°
=z*+12x+ 36
6) (a—8)=a"—2%X8Xa+8
=q*— 16a + 64
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(7) (1 4) x _4><4><1+ 1

— m2 % ;)
= " Zl+1(

8) (x+7)x—7)=2*—T7

=x1"—49
9) (a—8)a+8)=a"—8&
=q’— 64

10 (5+m)(5—m)=5"—m’

=25—m’
6| P.15
(1) 4x*+12x+5 (2) 9a*+ 6a—38
(3) 16a*— 24ab+ 9b* (4) 4m*— 25n°

(5) a*+2ab+b"—3a—3b+2

(6) x*—2xy+y’ —36 .

(7) 24+ 2xy+y* +4xr+4dy+4
(8) a*—2ab+b*—10a + 106+ 25
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(1) (2x+1)(2x+5)
=(A+1)(A+5

jz

=A*+6A+5
=4x*+ 122 +5

(2) (83¢—2)(3a+4)
=(A—2)(A+4)

r=AtB<

3a=A & BL

b X 4a+(3b)

m)*— (bn )

=4m* — 25n°

a+b=XtBL

=A"+2A—-8
=9a°+6a—8
(3) (4a—3b)*=(4a)*—2X%3

= 16a* — 24ab + 9b*
(4) (2m+5n)(2m—>5n)=(2
5) (a+b—1)a+b—2)
=(X—1)(X—2)
=X*—3X+2
=a*+2ab+b"—3a—3b+2
(6)

—y+6)(x—y—6
(x—y+6)(x—y—6) :‘l‘_y:x'é:jx

=(X+6)(X—6)
=X*—36
=x*—2zy +y*— 36

(7) (x4+y+2)

( ¢ 4 rt+y=X&BL
=(X+2) <

=X*+4X+4

=x'+2xy+y t+t4r+4y+4
8) (a—b—5) )

_ a—b=X¥tBL

:(AX*S)J

=X*—10X+25
=q*—2ab+ b*—10a + 105 + 25
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(1) 22*+3x+5 (2) 22°—x
(3) 2xr—>5 (4) x*+2x+1

(5) 4x*—9x— 28

Gl |

(z—1P+ (z+1)(z+4)
r—2x+1+x*+bxr+4
20+ 3+ 5

(x+4)(x—1)+(x—2)

r+3r—4+x—4x+4
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3) (x+2)(x—2)—(x—1)
=x'—4—(2*—2r+1)
=r'—4—xr'+2xr—1
=2r—>5

4) 2(x—1)(z+1)—(x+1)(x—3)
=2(z*—1)—(z*—2x—3)
=2°—2—z'+2x+3
=z'+2xr+1

(5) 3(x—2)+(x+8)(x—5)
=3(x"—4x+4)+2°+3x—40
=32 — 12z + 12+ 2+ 3x — 40
=42 —9x — 28

6) (r—2)(x+7)—2(x—1)(x+4)
=x*+5xr—14—2(x*+ 3x—4)
=x'+br—14—2x"—6x+8

=—z*—x—6
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(1) 10a*+ 5ab (2) —6x*+4xy
(3) —7m*+ 2mn (4) 18xy + 30x*
(5) a*b—3ab*+ 4ab (6) 6xy—8y*+ 2y
(7) 6x*—9xy (8) 4a*b+ 6ab
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(1) 5a(2a+b)=>5ax2a+5axb
= 10a* + 5ab
(2) (Bxr—2y)x(—2x)=38xx(—2x)—2y x(—2x)
=— 62" + 4xy
(3) —m(Tm—2n)=(—m)XTm—(—m)X 2n
=—Tm*+ 2mn
(4) 6x(3y+5x) =6x X 8y + 6x X 5x
= 18xy + 30x*

(5) ab(a—3b+4)=abxa—abXx3b+abx4
=a*b — 3ab*+ 4ab
(6) (Bxr—4y+1)X2y=38xX2y—4y X 2y+1X2y
= bxy — 8y* + 2y
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(7) ?1’(4.1"— by) = 5 X 41'*7.1' X 6y

= 62" — 9y

< a(10ab+ 155) = %a X 10ab + é)a X 156

=4a*b + 6ab
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(1) ax+ay+bx+ by (2) ab-+5a—4b—20
(3) 8x*+5x—2 (4) 6a*— 13a— 28
(5) 2a°+ab— 15b* (6) 3x*— 19xy + 20y°

(7) 2a*—3ab—3a -+ 12b— 20
(8) 8x*— 10zy + 3y* + bz — 6y
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(3) (x+2)Bx—1)=82"—x+6x—2
=3x*+5xr—2
(4) (8a+4)(2a—7)=6a"—21a+ 8a — 28
=6a*— 13a — 28
(5) (2a—5b)(a+3b)=2a"+ 6ab— 5ab— 15b*
=2a*+ ab—15b°
(6) (x—>5y)(3x—4y)=3x*— 4xy — 15xy + 20y*
= 3x*— 19xy + 20y*
(7) (a—4)(2a—3b+5)
=a(2a—3b+5)—4(2¢—3b+5)
=2a*— 3ab +5a — 8a + 12b — 20
=2a*— 3ab— 3a+ 126 — 20
(8) (4r—3y+6)(2x—y)
=4x(2xr—y)—3y(2x—y) +6(2x—y)
=8x* —4xy — 6xy + 3y* + 12x — 6y
=8x* — 10xy + 3y* + 12x — 6y
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(1) 37+ 2 (2) —2a+b
(3) —2m+3n (4) 4da—3b
(B) xy—y*—2 (6] 2—2.
(7) 10a —5b (8) 6y—9
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(1) (122 + 8xzy) = 4z = (122 + 8xy) X ﬁ
=3z + 2y

(2) (f(iab+3b3)+3b=(~(iab+3b”)x%
=-=2a-=b

(3) (10m*— 15mn) +~ (—5m)
2 qr, ~ o
= (10m*— 15mn) X ( B )
=—2m+ 3n
(4) (8a’h—6ab®) + 2ab=(8a’b — 6ab*) x —1_
2ab
=4a—3b

" ) ) 5 g 1
(5) (y—ay*—2x) +~x=(2y—xy’—2x)X e

=xy—y'—2
(6) (xy—y)+ %y = (zy—y) X f
=2r—2
() (60 —3ab) + —a= (60"~ 3ab) X -
5 3a
=10a — 5b
(8) (8xy*—12xy) + il‘y = (8zy*— 12xy) X L
3 4xy
=6y —9
4 P.A7
(1) z*+11x+18 (2) a*—13a+42
(3) y*—y—56 (4) 4x*+ 8x—45
(56) x*—24xr+ 144 (6) m*+18m+ 81
(7)  9a* + 30ab + 25b° (8) 4x*— 28xy +49y°
(9) a@*—36 (100 81— m?
1) 25x*—y* 120 4a*— 49b*
13 z*42zy+y*—2xr—2y—15
49 a*—2ab+b*— 16
B x*—4dxy+4y*+2xr—4y+1
16) 9a*+ 6ab+b*—12a —4b+4
L
[l .
(1) (z+2)(x+9)=2*+(2+9)x+2X%X9

— 2+ 1z +18

(2) (a*7)((/*6):(13+(*7*(&)0-%(*7).%(-6)
= — 13q+ 42

3) (y—8)y+7)=p'+(—8+71)y+(—8)x7
=gy —y—56

) [y PO -~ Ir C
(4) (2x—5)(2x+9) j 2r=A &<
=(A—5)(A+9) |

=A"+4A—45
— 47" + 8 — 45
(5) (r—12)7=x*—2Xx12Xx+12°
=z’ — 24x + 144

6) (m+9)P=m>+2xX9Xm+9*
=m’+ 18m + 81
(7) (3a+5b)=(3a)+2X5bx 3a+ (56)
= 9a” + 30ab + 25b*
(8) (22—Ty)'=(2x)*—2X Ty x2x+ (Ty)’
= 4x* — 28xy + 49y*

9) (¢a+6)(a—6)=a*—6*

=a"—36
1) (9+m)(9—m)=9*—m*
=81—m*
1 (br+y)(br—y)=(5x)"—y*
=2bx*—y*
12 (2a—7b)(2a+7b)=(2a)*— (7b)
=4a® — 49b*

1 (z+y—5MKx+y+3
(x+y—5Kx+y+3) polbye=X BB
= (X—5)(X+3) -

=X"—2X—-15

=2+ 2xy +y* —2x—2y—15
14 (a—b+4)a—b—4) :}a.—b:,\’k:ﬁK
=(X+4)(X—4)

=X*—16

=a*—2ab+b*— 16
15 (r—2y+1)° :\.'L'—Zg/:Xz‘:io‘(
=(X+1)

=X*+2X+1
=x—Adzy+4y*+2x—4y+1

16 (3a+5-2) :JS{/wL/)rX&:b’(
— (X—2) ,
=X*—4X+4

=9q*+ 6ab+ b*— 12a — 40+ 4

5 P.17
(1) 2x*—9x+10 (2) 12a
(3) 3z (4) 2a*—10a — 37
(5) x*—6xy+y* (6) 3x*+ 8x—43
(7) bxy— 3y* (8) 1la—22
Iz 3]

(1) (z+2)(x—3)+(x—4)

=x*—x—6+x*—8xr+16

=2x*—9x+ 10

2) (a+3)—(a—38)=a*+6a+9—(a*—6a+9)
:(1"'.+6a+9*a2+6{1~9
=12a

3) (z—1)(z+4)—(x+2)(x—2)

=x'+3r—4—(x*—4)

=r’+3r—4—1*+4

=3x



4) 3(a—2)(a+2)—(a+5)
=3(a*—4)— (a*+ 10a+ 25)
=3a"—12—a*—10a — 25
=2a*—10a — 37

(5) 2(x—y)y—(x+y)
=2(x*—2xy +3y°) — (2*+2zy + ¢°)
=2x" —day + 2y* — x* — 2xy — ¥
=x*—bxy +y*

6) 4(x—38)(z+4)—(x+1)(z—5)
=4(*+x—12) — (2*—4x—5)
=4r*+4r—48 —x*+4x+5
=3x° + 8z — 43

(7 QCr—y)x+y)—2(x—y)
=22+ 2xy —xy —y* — 2(2* — 2xy + y*)
=2 +xy —y* — 22° + dxy — 2°
= bxy — 3y*

(8) (2a—5)(2a+5)—(a—3)(4a+1)
=4a¢*— 25— (da*+a—12a—3)
=4q*—25—4a*+11a+ 3
=1la—22

EAEd 1 P18
(1D@ x*—5x—6 @ x+1 & x—6

@@ z*—64 @ z+8 @ z2—38
2D alz—y) @ z(y+6)

® bx(a—0>) @ 4a(2m—mn)

® abla+b) ® 2zxy(3x—>5)

@ Tay(2a—3y) ® bxy(1+3y)

©@ 3b(ab—4a—3) 2xy(dr—2y + 1)
] 2 | P19
1) (x+2)(x+7) (2) (x—2)(x—38)
3) (z—6)z—T) 4) (z—1)(xz+9)
5) (r—7)(x+38) 6) (r+3)(x—6)
(1) (a+2)(a—6) 8) (y+6)(y+9)
9) (r—6)(x+38) 10) (r+8)(x—9)
1) (r—3)(xr+15) 12 (a—7)a—9)
[ 5)
(1) 2*+[9]x+ 14

Al it

AT 14, FI259 L2 b 28U, 2, 7

'+ 9+ 14=(r+2)(x+7)
(2) 2’ [—10]x+ 16

gl iy

FEAT16, FI2s —10 &% 5 28uE, —2, —38

r*—10x+16=(xr—2)(x—38)
ELCEd 3 | P.20
(1) (z+2) (2) (z+6)*
(3) (r—5)* 4) (a—38)
(5) (m—1)* (6) (x+4)
(7) (y+7) (8) (x—10)
9) (a+3) 1) (x—9)*
(€50 |
(1) *+dr+4=x*+2X2Xx+2°

=z 2)

(2) *+122x+36=x"+2X6Xx+6

=(x+6)
(3) *—10x+25=2"—2X5Xxr+5
=(x—5)°
(4) a*—16a+64=a"—2X8Xa+ 8
=(a—28)
TEALEd 4 P 20
(1) (r+1)(x—1) (2) (a+4)(a—4)
(3) (m=+5)(m—5) (4) (y+10)(y—10)
(5) (x+8)(x—38) 6) (7+y)7—y)
(7) (3+m)(3—m) 8) (p+11)(p—11)
(§:7) |
(1) #—1=2"—1°
=(zx+1)(xz—1)
(2) a*—16=a"—4"
=(a+4)(a—4)
(6) 49—y*=T"—y*
=(T+y)(7T—y)

(7) 9—m*=38"—m*

=(834+m)(3—m)

| b |

P.21

(1) y(x+4) (2) bla—rc)
(4) 5x(2x—5y+3)

2] P21
(1) (x+2)(x+5) (2) (x—3)(x—6)
3) (r—4)(x+5) 4) (r+2)(x—28)
(5) (x—3)(x—9) 6) (r+2)(x—10)
(7) (r—5)(x+8) 8) (r+6)(x—17)
63
(1) z*+[7]x+ 10

Al it
TAY10, FIAS7 &% 2%%, 2, 5
r’+7xr+10=(x+2)(x+5)

(2) 2[—9x+ 18
Al Tk

TEAY18, MY —9 & 745 2%1%, —3, —6
=9+ 18=(x—3)(x—6)

(3) z*+[1]xr—20

Mmoo
FEAY —20, FIAS1 &5 2%0%, —4, 5
2+r—20=(x—4)(z+5)

P.21

(1) (z—1) (2) (y+3)
(3) (m+5) (4) (x—T7)*

) 1y
(5) (a+9) (6) (1 2)
[# 5]
(1) 22—2zx+1=x'—2X1Xz+1?
(2) y*+6y+9=y"+2X3Xy+3

=(y+3)

gyl 2 gyl o (1Y

(6) x :c+4—x 2><2><1+<2)

N

’("3 2)
4 P.21
(1) (x+3)(x—3) 2) (a+6)(a—6)
3) (m+7)(m—17) 4) (y+8)(y—8)
(5) (x+10)(x—10) 6) (6+p)(5—p)

[#2 5]

(1) z*—=9=2"—3"
=(x+3)(xr—3)

(2) a*—36=a"—6"
=(a+6)(a—6)

(6) 25—p*=5:—p
=06G+p)6-p)




E 1 (15 bam®+ 5am —10a =5a(m*+m—2) (13) 8x*y — 18yz* =2y (4x* — 9z*) (7) (2z+1)—(x—3) jzijl:A'
ﬂ RYARYLY7 5 oAy —5a(m—1)(m+2) — 2y(22 + 32) (22 — 32) —A— B r—3=BEB{
16 —4a’b+ 4ab+80b=—4b(a*—a—20) 149 12ab*— 12ab + 3a = 3a (46* — 4b + 1) =(A+B)(A—B)
mn P22 =—4b(a+4)(a—5) =3a(2b—1) i(2.1'+1+.r*3)(21‘+1—{v+3)
o =(3z—2)(x+4)
1) 2(@+2)@+3) @) 5(a+2)(a—3) FEE 2 P.23 TR 3 poq | ® (a+6r=9 Jersmarn
(3) 5(z+4)(x—4)  (4) —3(z—2)(z+4) =A'=3
(5) 4(m+3)(m—5) (6) 2(a+5) (1) (22—1) (2) (3a+5) (1) (a+b+1) (2) (z+y+2)(z+y—5) =(A4+3)(A-3) |
() 3(m+5)(m—5) (8 4(1+p)(1—p) (3) (9a—2)" (4) (z+4y) (8 (z+3)z—5) @) (a+1)(a+7) =(@a+5+3)a+o-3) |
9 a(z+1)(z+5) 10 alz+y)z—y) (5) (6x+1)(6x—1) (6) (2z+5)(2x—5) (5) (z+y)a+3) (6 (a+b)(x—2y) O m(z+y)—nz—ny |
1 y(z+3)(x—7) 12 2a(b—3) (7) (3z+8)(3x—8) (8) (da+7b)(4a—17b) (1) Bz—2)(x+4) (8) (a+b+3)a+b—3) =m(z+y)—n(zty) :|_l,+g/:/1“5<
1 z(x—2)(x—6) 14 2x(y+7)y—7) (9) (22 +5y) (10) <3(1*%b>2 9) (x+y)m—n) 10O (a—b)(x—23) i"”A_”A “
19 Sa(m—1)(m+2) 19 —4b(a+4)(a—5) ) ) 1) (a—3+b)(a—3—b) =Alm—mn) | 1\
L 1) < >< ) 12) <a+€b)<a*€b> 12 (a+b+c)a+b—c) =(x+y)m—n) \\[
[#2 8] 13 2 (zI—HM)(nvaz) B (z+1)(y+1) M (a—1)(6—2) 10 z(a—b)—3a+3b |
(1) 22*4+ 10z +12=2(2*+5x+6) 14 3a(20—1)* - =x(a—b)—3(a—0) ja~/;*Aé:B<
=2(x+2)(x+3) [# 5] =xA—3A
(2) 5a*—5a—30=5(a*—a—6) (G | () (a+b)y+2(a+b)+1 j(lﬁ-/)*/{}:i?( =A(x—3)
=5(a+2)(a—3) (1) 4x'—dzx+1=(2z)—2X1X2x+1 =A'+24+1 =(a—b)(z—3)
(3) 52*—80=5(x*—16) =(22—1) =(A+1) W a*—6a+9—b
=5(x+4)(x—4) (2) 9a*+30a+25=(3a)*+2 X 5 X 3a + 5 =(a+b+1) =(g—3) — b’ :]a_g .
(4) —8x*—6x+24=—38(x*+2x—38) =(3a+5)* 2) (x+y)—3(x+y)—10 :I.z'+y:/lk;fo‘< =A*"—p
=—3(z—2)(x+4) (3) 8la*—36a+4=(9a)*—2 X2 X 9a+2? =A’—3A—10 =(A+b)(A—b)
(5) 4m*—8m —60=4(m*— 2m — 15) =(9g—2)* =(A+2)(A—5) =(a—3+b)a—3—0)
=4(m+3)(m—5) (4) 24+ 8ry+ 16y =x"+2 X 4y X x+ (4y)* =(x+y+2)(x+y—5) 12 @&+ 2ab+b*—c*
(6) 2a*+ 20a+50=2(a*+ 10a + 25) =(x+4y) (3) (.@—1)2—4(1+1)—12 jxﬂ:AUx :(7+b?2—c2 :|a+1;:/1u5<
=2(a+5) (5) 36x*—1=(6x)*—1° =A*"—4A—12 =A'—¢*
(7) 3m*—75=3(m*—25) =(6x+1)(6x—1) =(A+2)(A—6) =(A+c)(A—c)
=3(m+5)(m—5) (6) 4x*—25=(2x)*—5* =(x+1+2)(x+1—6) =(a+b+c)at+tb—c)
(8) 4—4p*=4(1—p?) =(2x+5)(2x—5) =i(z+8)(x—5) 1 xy+y+xr+1 -
=4(1+p)(1—p) (7) 92*—64=(32)*— 8 (4) (7+3)2+2(a+3)—8 :](HrS:Ak;B( =y(z+1)+(z+1) jx+1:Aka‘5<
(9) ax*+6axr+5a=a(x*+6x+5) =(3r+8)(3x—38) =A*+2A—8 =yA+ A
—a(z+1)(x+5) (8) 164> —49b*= (4a) — (7b)* =(A—2)(A+4) =A(y+1)
10 ar’—ay*=a(x*—y*) ! =(4a+7b)(4a—Tb) =(a+3—2)(a+3+4) =(x+1)(y+1)
=a(z+y)xz—y) (9) 4x*+ 20xy + 25y° = (2x)*+ 2 X 5y X 22+ (5y)* =(a+1)(a+7) 14 ab—b—2q+2
1) ry—Adzy—2ly=y(x*—4xr—21) = (2x+5y)* ‘, (5) alx+y)+3(x+y) :'.r+y:A2:io‘< =b(a—1)—2(a—1) ja*l—éltioﬁ
=y(z+3)(x—17) 10 9a*—3ab++5'= (3a) —2x b x 3a+(+0) =aA+3A =bA—2A
12 2ab*—12ab+ 18a=2a(b*—6b+9) , =A(a+3) =A(b—2)
=2a(b—3) :<3a“”’> =(x+y)(a+3) =(a—1)(b—2)
19 z'—8z*+12r =2 (2" — 8z +12) R (%) (6) x(a+b)—2y(atb) jaer:A&a‘o‘(
=x(x—2)(x—6) =1A—2yA
1) 22y*— 98x=2x(y* —49) :<1'+3><'1 %) =Alz—2y) ;f“
=2x(y+7)y—7) 12 (f*;—?bz:a!—<%b>z =(a+b)(x—2y) | |
SEn -
44— | — 15 —




[1] P.25
(1) 3(x+3)(x—5) 2) 4(a—4)(a+5)
3) 5(m+5)(m—5) (4) 2(4+y)4—y)
(5) a(x—4)* 6) 2x(y—2)(y+5)
(7) 3a(b+3)(b—3) (8) —4b(a+1)(a—3)

[#5t]
(1) 8x*—6xr—45=3(x*—2x—15)
=3 (z+3)(z—5)
(2) 4 +4a—80=4(a*+a—20)
=4(a—4)(a+5)
(3) bm*—125=>5(m*—25)
=5(m+5)(m—5)
(4) 32—2y*=2(16—y*)
=2(4+y)4—y)
(5) ar*—8ax+ 16a=a(x*—8x+16)
=a(r—4)*
(6) 2xy*+ 6xy — 202 =2x(y* + 3y — 10)
=2x(y—2)(y+5)
(7) 3ab*—27a=3a(b*—9)
=3a(b+3)(b—3)
(8) —da*b+8ab+12b=—4b(a*—2a—3)
=—4b(a+1)(a—3)

2 P.25

(

—

) (8x+1)° (2) (2a—38)*
(3) (5a+1)(5a—1) (4) (92+8y)(9x—8y)

(
(5) (4x—3y)* (6) (3m~§)
9

(7) 3a(2b+¢)(2b—c) (8) 2x(3y—2)*

(3|

(1) 92*+6x+1=(82)*+2x1X3x+1?
=(8x+1)

(2) 4a*—12a+9=(2a)’—2X3X2a+ 3"
=(2a—3)

(3) 25a°—1=(5a)*—1*

=(5a+1)(ba—1)

(4) 8lx*—64y*= (9x)* — (8y)*

= (92 +8y)(9z — 8y)

(5) 16x®— 24xy + 9y* = (4x)*— 2 X 3y X 4x + (3y)’
= (4x—3y)*

n? ) . ; . n \
(6) 4m2*2mn+%:(2m)“—zx ;l X2m+(7>

“fon-2]

(7) 12ab*— 3ac* = 3a (4b* — ¢*)
=3a(2b+c)(2b—c)
(8) 18xy* — 24xy + 8xr=2x(9y*— 12y +4)

=2x(8y—2)*
[3] P.25
1) (x+y+3)(x+y+4) (2) (a+b—2)
3) (x—1)(x—11) 4) (a+1)(b+3)
5) (r+y+4)x+y—4) (6) (3a+4)(a—6)
(7)) (x+2+y)x+2—y) (B8 (x+2)(y—2)

[#2 5]

(1) (x+y)+7(x+y)+12 jrw:Aam
—A*+TA+12
=(A+3)(A+4)
=(z+y+3)(x+y+4)

(2) (a+b)—4(a+b)+4 :‘a+b:flkis<
=A*—4A+4
=(A—-2)
=(a+b—2)

(3) (x—5)—2(x—5)—24 jl._{;:A&a‘o‘(
=A*"—2A—24
=(A+4)(A—6)
=(zx—1)(z—11)

4) b(a+1)+3(a+1) L Jerr=arnc
=bA+3A
=A(b+3)
=(a+1)(b+3)

(5) (x+y)—16 3
D jl+y*A&f3<
=(A+4)(A—4)
=(z+y+4)(z+y—4)

2¢a—1)Y—(a+5)* 2a—1=A,

(6):1(4220_82) ( ja+5:3aﬁ<
=(A+B)(A—B)
=(2a—1+a+5)(2a—1—a—5)
=(3a+4)(a—6)

(7) *+dr+4—y*
::ij)_y j.r+2:14‘&i5<
=(A+y)(A—y)
=(x+2+y)x+2—y)
(8) xy+2y—2xr—4
:Z;r_+2i3_z('r+2) JEESSEVEEY:
=A(y—2)
=(zx+2)(y—2)

4 EREEDUTE

R 1 P.26
(1) 1000 (2) 840
(3) 1521 (4) 9025
(5) 896 (6) 3599

%51

(1) 55" —45*= (55 +45) x (55 —45)
=100 X 10 = 1000
(2) 47°—37"= (47 +37)x (47— 37)
=84 X 10 =840
(3) 89*=(40—1)
=1600— 80+ 1= 1521
(4) 95*= (100 —5)*
= 10000 — 1000 + 25 = 9025
(5) 28%x32=(30—2)%x(30+2)
=900 —4 =896
(6) 59X 61=(60—1)x(60+1)
= 3600 — 1= 3599

i 32 = Y P.oB
<
(1) —20 (2) 3600
(3) 25
[#5t]
(1) (x=5)—(x—3)zx—6)=—z+7
=—27T+7=—-20
(2) 22—6x+9=(xr—23)
= (63 —3)*
=60 = 3600
B) @—=b'=(a+b)a—b)
=(6.25+3.75) X (6.25 — 3.75)
=10X2.5=25
TETE 3 | p.o7

S=(b+2a)(c+2a)—bc
=4a*+ 2ab + 2ac
0=(b+a)X2+(c+a)x2
=4a+2b+ 2¢
L72h 5T, al=a(da+2b+ 2¢)
=4a’+ 2ab+ 2ac @
O, @y, S=w

(@




